kEE-ELRERH)

SREEWHEME ($F4598238 £RA158)

[3kREFEH(12A13A~16H)]

BTE
ik Bt Mt =
1= 1 | 4 iz
_ ROE
I = M I & Fr
— Al Z4ENIKZR ER= 290 m
A BE= 290 m

FEEMAL =T
RFEith

FEIEET V=1, 120m3
JaysIyrI A=262m2
EK—FER A=39m2
MOk N=28Fk

kNI R
AN

LE= 254 m
A= 254 m

HIR™ JOvyH I A=107m2
H R ET MOET N=1F
’RZET A=37m2
Z#EI Sk R ER= 369 m
it
EFR= 369 m

AR
$r T

JOvysEI A=171m2
EIJOYHIIT A=22m2
INOLWLET N=48m
REFRAT N=69%

ZHRa)Il BN KR
FaE)

ER= 481 m
aF= 481 m

HIRmH JOyHEI A=183m2

st R ET RIJOYHII A=50m2
INOIET 2%

)l ER= 246 m
BR= 246 m
ER= 230 m

HERH JOvsiEI A=86m2

= RHET EIJOYHIIT A=23m2
INOIET N=28FF
BEOHIT N=38{F

—hREE ER= 113 m

RS R

mAE™ JOyyik A=74m2

B FET JOviRERT L=11m

NOWE N=28&Fr




(KEE-BXR:E)
SREEWHEME ($F4598238 £RA158)

[3kREFEH(12A13A~16H)]

_ Ml T
ik Bt Mt =
Ao & - B’ OB O4
ROE
I E B I & Fr
RN ER= 460 m
SR HE= 460 m
ER= 16.9 m
HIRmH JOvyiE#ESFEIT A=238m2
J\EFH IOWET N=4%EfT
FRPIBAEFRPIEB LR ER= 130 m
g8 = 30 m
HIRmH JOyH I A=47m2
FRFIARET INOIET N=28FF




